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Sentence Correction Test Question for CGL Tier 2, CGL 

Tier 1, IBPS Clerk Pre, IBPS PO Pre, IBPS SO Pre, SBI 

Clerk Pre, SBI PO Pre and SSC 10+2 

Sentence correction test Quiz 4 

Directions: In the following questions, some part of the sentence is underlined. 

Which of the options given below the sentence should replace the part underlined to 

make the sentence grammatically correct? If the sentence is correct as it is given 

then choose option E ‘No Correction required’ as the answer. 

1. A friendship founded on business is best than a business founded 

on friendship. 

A. is good than  B. is better than  C. is bestest than 

D. is more better than E. No correction require 

2. The crowd which has gather to protest against the decision slowly 

returned to their homes. 

A. which had gathered B. which have gather C. gathering up 

D. which gathers around E. No correction required 

3. The bridge in connection with the two cities will remain closed for 

security reasons. 

A. connects between B. in connection to  C. being connected from 

D. connecting  E. No correction required 

4. Newspapers have great power because their enormous circulation. 

A. on account  B. because of  C. as a result 

D. owing   E. No correction required 



 

 

5. Besides criticism of some supervisors the chairman still commands 

respect from the employees. 

A. despite criticism from  

B. without criticism of 

C. except the criticism from 

D. unless criticism of 

E. No correction required 

6. Aruna is wiser than all her friends. 

A. more wise than most of 

B. more wise than all of 

C. more wiser than most of 

D. more wise than most of 

E. No correction required 

7. Diet-conscious people wouldn’t be liked to have ice cream after 

dinner. 

A. wouldn’t like to   

B. would be like not to 

C. would be liking to not 

D. would be not linked to 

E. No correction required 

8. Sonu Nigam has such a sweet voice that it is nice of hearing him. 

A. is nice for hearing 



 

 

B. is nice to hear 

C. is nice to give hearing 

D. is nice of hearing 

E. No correction required 

9. It is not true that a person who is good into studies is necessarily 

intelligent. 

A. is good into study 

B. is good at studies 

C. has best at study 

D. has been good to studies 

E. No correction required 

10. Except for you and I, everyone brought a present to the party. 

A. With the exception of you and I every brought 

B. Except for you and I, everyone had brought 

C. Except you and me, everyone brought 

D. Except for you and me, everyone brought 

E. No correction required  

  



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 
B A D B A E A B B C 

 

Explanations: 

1. 
As in the sentence, a comparison between two aspects is given, the underlined part 

hence must be replaced with 'is better than' to make it a grammatically correct 

sentence. 

Hence, the option B is correct. 

 

2. 
The underlined part must be replaced with 'had gathered' to match the tense in the 

sentence. 

 

3. 
The idiom 'in connection with' means 'having to do with a particular thing'. 

Ex. The police have questioned many people in connection with the fire in the 

shopping mall. 

While the present participle 'Connecting' means 'to connect with something'. 

The underlined part, hence, must be replaced with 'connecting' to make it a 

grammatically correct sentence. 

Hence, the option D is correct. 

  

4. 

The underlined part must be replaced with the preposition 'because of', which 

means 'by reason', to make it a grammatically correct sentence. 

Hence, the option B is correct. 

  

 



 

 

5. 
Use of the preposition 'Besides', which means 'in addition to something' is not 

appropriate in the context and must be replaced with the preposition 'despite', 

which means 'without being affected by or in spite of', to make it a grammatically 

correct sentence.   

Hence, the option A is correct. 

 

6. 
The sentence is absolutely correct. 

Hence, the option E is correct. 

 

7. 
In the context, the underlined part must be replaced with 'wouldn't like to' to make 

it a grammatically correct sentence. 

Hence, the option A is correct. 

  

8. 
The underlined part must be replaced with 'is nice to hear' to make it a 

grammatically correct sentence. 

Hence, the option B is correct. 

  

9. 

The underlined part must be replaced with 'is good at studies' to make it a 

grammatically correct sentence. 

We use the phrase 'good at' to show someone's efficiency in a particular field. 

Ex. He is good at Reasoning. 

Ex. Mr. Sharma is quite good at passing the buck. 

Hence, the option B is correct. 

 

 

 

 



 

 

10. 
'Except for' is an idiom which means 'if it were not for'. 

Ex. She would travel more except for lack of money. 

While 'except' is a preposition which means 'apart from' or 'with the exclusion of' 

and is followed by a personal pronoun in accusative case (him, me, us, them, etc), if 

any. 

Ex. Everyone went to the party except me. 

Ex. All the students wished me good luck except him. 

Considering above points, the most appropriate choice is 'except you and me' to 

make it a grammatically correct sentence. 

Hence, the option C is correct. 
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